1 Active Clauses

(C9) Fmo+(((k*(lo+(1+1)))+(lo*(mo+1)))+1) = k+((k+(mo+1))*(lo+1))
((to+1)* (t1+1))) Fmo = ko+ ((ro*(to+1)) * (t1 + 1))
mo =ko+ (rox((to+21)*(t1+1))) Fmo =ko+ ((ro* (t1+ 1)) * (¢p + 1))
C20) F (((to+1)*t1)+to)+1=(to+1)*x(t1+1)
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to = po,natog * natey = to F nateg = 1, natyy = tg
to=potk 1<ty

Fmg =1, s1(mo) * sa(mg) =mg

Fmg = 1,51(mo) = po, 51(mo) = P1
to =p1,1 =ngxtoF

to =Po,1 =ng*to F

2 Subsumed

(C1) 1+ (lp+1)=1+ by (A13)

C31) 0 < po - (qo * Po) + (r0 * Po) = (qo + 70) * Po by (A23)

C32) 0 < po F (io + (qo * Po)) + (ro * Po) = io + ((qo * Po) + (70 * Po)) by (A3)

1o < 0,0 < po,io < Po,to + (g0 * Po) = 0+ (19 * po) - by (A28)
C42) g = 0,49 < 0,0 < g by (A30)

)
)
)
C40) 0 < ip,0 < po,io < Po, %o + (o * Po) = 0+ (ro * po) - by (A29)
)
)
C44) 0+ 1 < pot 0 < pg by (A34)
)
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C45) F 0+1 =1 by (A6)



C48) 0 < p1 k(g0 *P1) + (ro *P1) = (qo + o) * P1 by (A23)

C49) 0 < p1 F (io + (o * P1)) + (1o * P1) = 7o + ((qo * P1) + (0 * P1)) by (A3)
C57) 0 < ip,0 < p1,io < P1,io + (g0 * P1) = 0 + (ro * p1) - by (A29)

C58) iy < 0,0 < p1,ip < P1,%0 + (go *p1) =0+ (ro *xp1) - by (A28)

C59) + iy =0,i9 < 0,0 < ig by (A30)

C62) 0 +1 =1 by (A6)
C89) F mg = 1,4(mg) * s1(mo) (mo) * sa(mg) by (A14)

= 81
C90) +mgy =1,0+ (s4(mg) * s1(mg)) = s4(myg) * s1(mg) by (A6)

C96 t0:p1|—0+(n0*t0
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(C61) 041 < p1+0<p; by (A34)
(C62)

(C89)

(C90)

(C96) no * to by (A6)
(C99)

(
)
) =
C99) to=po - 0+ (ng * ty) =

3 Clauses with Tautologies

(C2) naty + (nats +1) =1+ naty + (natz +1) =1
(C3) naty =1+ naty =1
(C4) naty =1F nat; =1
(C5) naty = nats + (nats * (natg + 1)) - naty = nats + (natg * (natg + 1))
(C6) nats =1F nats =1
(CT) mo+ (no+1)extmo+(ng+1)€x
(C8) mo+ (no+1) =k+ (natyx(lg+1)) Fmo+ (no+1) = k+ (naty x(lp + 1))
(C10) kextkex
(C11) naty; =1F naty; =1
(C12) nat11 = natg + (natia * (natip+ 1)) b naty; = natg + (nati2 * (nat1g+ 1))
(C13) natg =1F natg =1
(C14) ng=1Fng =
(C15) ng=1Fmny=1
(C16) mo = 0+ (natys * p1) F mo = 0 + (natys * p1)
(C18) mg = 0+ (natyy * po) F mo = 0 + (natyy * po)
(C21) ko = 0 + (naty3 * p1) F ko = 0 + (natss * p1)
(C22) ko =0+ (natsz * po) - ko = 0 + (natss * po)
(C23) ng =0+ (natgo * p1) - no = 0+ (natso * p1)



no = 0 + (naty; * po) F no = 0 + (naty; * po)

ng = 0 + (natsg * p1) = ng = 0 + (natsg * p1)

ng = 0+ (natsg * po) - no = 0 + (natsg * po)

natgs = 0 + (natsr * po) F natss = 0 + (natsr * po)

natss = natss + (natse * (natsg+1)) b natss = natsa + (natse * (natsy +1))
natss = 0+ (natss * po) - natza = 0 + (natss * po)

0 < po,to =0+ ((90 + 70) * Po) - to =40 + ((g0 + 70) * Po)
0 < po,mo = io + (go * Po) - Mo = 7o + (g0 * Po)
0<po,ig=0Fip=0

0 < Ppo,io < PoF io < Po

to = io + (qo * Po) I to = io + (qo * Po)

1<pohk1<po

0 < p1,to =10+ ((90 +70) * P1) - to =0 + ((qo + 70) * P1)
0 < p1,mo = io + (g0 * P1) - mo = 7o + (go * P1)
0<p1,i0=0Fip=0

0 < p1,i0 <P1Fip<p1

to =10 + (g0 * P1) I to = io + (o * P1)

1<piF1<p;

natas = p1 b natas = p1

nateg = 1+ natyg = 1

natsg * natey = p1 F natog * natey = py

1<piF1<pq

natas = po F nates = po

natoy = 1 Fnatey =1

natay * natos = po F natoy * nates = po

1<potF1<po

natos = to F nateg = ty

natas = 1 F nateg =1

natos * nategz = tg F natas * natasz = ty

1<tyF1<t



(C100) mg = 0+ (naty7 *x p1) F mo = 0+ (naty7 * p1)
(C102) mg = 0+ (natyg * to) = mo = 0 + (natig * to)
(C103) to = po - to = Po

(C104) mg = 0 + (natis * po) - mo = 0 + (natis * po)

4 Clauses with Reflexivity

(C68) Fp1 =

(C73) - Po = Po

(C87) Fmg =1,mp = mg
(C101) F py =
(C105) + po = Po
(C106) -1 =1

5 Explicit Axioms

(Al) Fh+1=1+Fk

(A2) Fk+(l+m)=(k+1)+m

(A3) F (k+1)+m=k+ (I +m) (subsumes 2 clauses)
(Ad) k+l=k+mtl=m

(A5) Fk+0=Fk

(A6) F 0+ k =k (subsumes 5 clauses)

(A7) k+l=m+IFk=m

(A8) k=Il+kr1=0



k=k+1lF1=0

1<k l=1xkF

)
(A10) k+1=Fk+F1=0
(A11) k+1=1Fk=0
(A12) k=1Fm+k=m+]I
(A13) 1+ (k+1) =1+ (subsumes 1 clause)
(Al4) F k+l=1xk (subsumes 1 clause)
(A15) k+1=0F
(A16) F ks (lxm) = (k+l)*m
(A17) b (k1) % m =k (L m)
(A18) Fhk+1=k
(A19) F1xk =
(A20) F k(1 +m)=(k+l)+ (k*m)
(A21) b (k+ 1) m = (k*m) + (I % m)
(A22) = (kxl)+ (k*xm)=kx(m+1)
(A23) F (kx1)+ (m=*1) = (k+m) =l (subsumes 2 clauses)
(A24) H (k«xD)+k=kx(l+1)
(A25) F (k+1)xm=(lxm)+ (k*m)
(A26) 1=k#lFk=1
(A27) 1=lskFk=1
(A28) k <l,k<m,l <m,k+ (ixm) =1+ (j*m)F (subsumes 2 clauses)
(A29) k <l,k<m,l <m,l+ (ixm)=k+ (j*m)F (subsumes 2 clauses)
(A30) Fk =1,k <!l <k (subsumes 2 clauses)
(A31) FO<k+1
(A32) 1<k k=1F
(A33)
(A34)

n+1<mkbn<m (subsumes 2 clauses)



